

Asymptotes

Vertical Asymp

Where denom = 0

$$y = \frac{2}{x+3} - \frac{1(x+3)}{1(x+2)}$$

Horiz Asymp

Use highest power
of x in problem—
$$4 = \frac{2 - x - 3}{x + 3}$$

Use highest power
$$4 = -x - 1$$

$$4 = \frac{3x^2 + 1}{2x^2 - 8}$$

$$4 = \frac{3x^2 + 1}{2x^2 + 7}$$

$$4 = \frac{3x^2 - 8}{1x^3 + 7}$$

$$4 = \frac{3x^2 - 7}{3x + 1}$$

$$4 = \frac{4x^2 - 7}{3x + 1}$$

$$4 = \frac{4x^2 - 7}{3x + 1}$$

Oyr

Asymp.

Find all asymptotes
$$f(x) = \frac{3 \times 77}{x^2 - 3 \times - 28}$$
Vertical $\frac{1}{2} = \frac{28}{17}$

$$\frac{1}{2} = 0$$

$$\frac{|y|_{\text{ole }}S - \text{When terms cance}|}{\text{from num + denom}}$$

$$f(x) = \frac{x^2 - 4}{x^2 + 3x + 2}$$

$$= \frac{(x+2)(x-2)}{(x+1)(x+2)}$$
Hole of $x=-2$